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Find the following, 
 There are 55 students in class. If the number of girls is 15 and the remaining are 

boys, find the ratio of:  

(a) The number of boys to number of girls.  

(b) The number of girls to number of boys. 

(c) The number of boys to total number of students. 

 

 

 

 Find the ratio of 900 km to 1.5 m. 

 

 

 Find the ratio of 1200 ml to 3 l. 

 

 

 Divide 120 rupees in the ratio 2 : 3 between Vipul and Anurag. 

 

 

 There are 25 labs and 35 classrooms in a school. Find the ratio of the number of 

labs to the number of classrooms. 

 

 

 In a fruit basket there are 25 apples and 15 oranges then find the ratio of : 

(a) Number of apples in basket to the total number of fruits in basket. 

(b) Number of oranges in basket to the total number of fruits in basket. 

(c) Number of apples in basket to the number of oranges in basket. 

 

 

 

 

 If cost of 1 kg grapes and cost of 1 kg apple are 85 and 225 rupees respectively. 

Then find the ratio of the cost of 3 kg grapes to the cost of 2 kg apples.   


